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Instructions:
1) Start each gquestion on fresh page.
) Figures to the right indicate maximum marks.
1) Non programmable calculator s allowed,
) Graph paper can he wsed wherever applicable

Q1) Atteapt the following guestions. SX4-20

A P33 .Q (\T.mtu\d R = (12,21 are the vertices of a tnangle PQR. Show that
s a nght angled tnangle

) Differentiate the following y = e* (x7 - Ix 12)
¢)  Tind the value of _f:( Ix? +2x+1)dx

g - - (. F o
d) IZ=x"131xy" tythen find — and o
. : dx ay

¢) The demand law 1s given as P= 15- 2D - D? Find the consumers surplus when the demand
1s 2.
OR

QD) Attempt the following questions. SX4=20

1) The equation of a line 18 3x-7v+5 =0 Find
a) Slope of a line b) the x-intercept ¢) the y —intercept

1) The total cost of producing X 1tems by a firm is C= 400+ 0.02 x + 0.0001 x*.
Find a) average cost b) marginal cost at x= 10

) Evaluate the mtegral [(x¥+ 3 x? -2x + 5) dx

; . - 2 2 ¢ dr dz .
y E + R s 4 habarlr
) Given Z = x* + y*- 5 | find = and -~ at the point (1,3).

V) Find the coordinates of point P which divides the line segment RS externally in the ratio
4.5 where R= (4,9), S=(2,4).
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wing question® SN-20

DI Attcmpt the follo
problen by praphical mictho

nye
amming
4l Salve the hinear prov gx 1 1Y

““l']y‘ S .x 2 0and y e 0

| n } ven ‘”’, ‘(
L ¥
ic ‘]

4
ay Y .4 =X
&) Ify=3". find = ot and -~

i ar \ . 3 :
4y Fnd ‘:: and oy if 2=2x"-11x%y+13y

Find the coordinates of the pomnt dividing the segmient joining the point (-5, -3) (2 -4)

N nternally 1n the ratio 2.3,

OR

QI Attempt the following questions. SX4=20

1) Find the equation of a line having y - intercept -5 and perpendicular to the line
Ix-4y+12=0
u) Find the ratio in which the line segment joining A= (7,8) and B = (-5,-1) divided by th

y-axis. Is the division internal or external?

111) Two vertices of a triangle are (- 1,4) and (5,2 ). If the Centroid of a tnangle is (5 4)
Find the third vertex.

iv) Find the values of x for the function f(x)= x* - 75x +10
a) decreasing  b) increasing

| v) Find the total revenue for the function if the marginal revenue MR = 5-3 x?-4x°

O 3) Attempt the following questions. SX4=20

a) If A=(2,2) B=(-24)and C=(2,)are the vertices of a triangle ABC Prove that
ABC is an isosceles triangle by using distance formula.
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(2.4)a0d B (5.1}

v Fd the equation of a linc passing through the ponts A

+ 4 and the

N ﬁ\'Cd cost 15 Rs. 204}
&1 If the marginal cost for a product MC = 15x° 7 ox
Fiad the toital cost and the average cost funcuon.

- _ ) nd also state the
4} Find the extreme values of the function f{x) = 2 x3 15+ 30%7 5%
extreme values at the correspending points
‘ _ , : gy =-4
¢) Find the equation of the line having y- intercepl 3 and parallel O line 3x- 2)

OR
QD) Attempt the following questions. sX4=20

i) Evaloate [(x — 2)(x + 7)dx

. R x<-9
if) Evaluate the imit lm
x—3 x-3

;i) Examine the continuity of 2 function at x=3

fix)= x2 +1 0<x< 3
4 x=3
2x-3 3<x< 6

~) Find the value of [(10 €¥ - 5 +6x+5) dx

v} The midpoint of 2 line segment (2a,4) and (-2, 2b) 1s (1. 22+1) . Find the value of aand b.

Q4) Attempt the following questions. 5X4=20

2) Find the equation of a line passing through the point (1,3) making an intercept of Son
the y-axis .

x+6—-3

—

b) Evzlualcthcfo!lcwmglimitii_rg o

c) If(a,i).2,3) and (1 ,-5) are collinear points . Find the value of a ?

d) Find the equilibrium point and equilibrium price when D=49-4p and S =9p-42.
Also state the demand and supply at that point.

2 i a
) fZ=x"+y*+xy, Venfy that x:’-;z +y -g-; =47
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OR
Q1v) Attempt the following questions. SX4=20

1) 1f the marginal demand and marginal supply function {or a certam commodity 15

piven by MD = p?-op . MS =15-2p
Assuming that p=0 when demand and supply are zero. Pind Demand and supply at

p-4dandp-5
3 ;
1) Find the derivative of'y = X /2 4 4% - JNogx + §S wrt x

i) The supply function for a commodity 1sp = x% + Sx 44 Find the producer surplus
when p =10. ,

1v) Integrate the followimg J’ et gy

v) Solve the following lincar programming problem by graphical method
Max z = 3x + Sy > tho
st xt2y < 20
x+y=<I15
yse

x2 0 and y2 0

e sl 7 T 1 R



